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1. Which of the following is a balanced equation for the combustion of ethanol (CH3CH2OH)?
[image: image1.png]T aw >

CH4CH,OH + 30, —» CO, + 2H,0
CHaCH,OH + 30, —» 2COj + 3H,0
CHgCHz0H + Op —» 2C0, + 3HO

CHaCH,OH + 20, —» 3CO; + 2H,0




2. Hydrazine, N2H4, and dinitrogen tetroxide, NsO4, react to form gaseous nitrogen and water. Which of these represent a properly balanced equation for this reaction?
[image: image2.png]o aw»

N,H, +N,0, — N, +H,0
2NH, +N,0, — 2N, +4H,0
2NH, +N,0, — 3N, +4H,0
2N,H, +3N,0, — 5N, +6H,0




3. How many atoms are contained in 97.6 g of platinum (Pt)?


A. 5.16 x 1030

B. 3.01 x 1023

C. 1.20 x 1024

D. 1.10 x 1028
 4. Balance the following equation:

________NH3 + ___________O2 [image: image3.wmf] ___________NO + _________H2O

6. You have 102.5 g of NH3. Calculate how many particles of NH3​ ​​you have.

7. If you dissolve HCl in water (you have more water than HCl), then which is the solute and which is the solvent?


Solute – _______________


Solvent – ______________

8. Using the answer from #2, determine the molarity of your HCl solution if you have 3 L and the 22 g of HCl
9. If you have 27 x 1023 particles of H2, then how many moles of H2 do you have?

10. If you dissolve H2 in water (you have more water than H2), then which is the solute and which is the solvent?


Solute – _______________


Solvent – ______________

11. Using the answer from #6, determine the molarity of your H2 solution if you have 9 L and the number of moles from problem 9.

TOTAL SCORE: ________________





TOTAL POINTS


AWARDED: _____________________








